For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

190-116-000 Mulch Kit (2005) Page 1 of 2
General Assembly 116

USED ON DECK W/NON-SQUARED =OLE [

WWW.mymowerparts.com



For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

190-116-000 Mulch Kit (2005)
General Assembly 116

A
@,
H*

OCoOoO~NOOUITA,WNEF

Part Number
710-0134
710-0599
710-0751
712-3087
731-2363
783-1258A
783-1259A
783-1299
783-1300
736-0270
726-0211
OEM-190-116

Qty S/P/F
/P
/P
/P
/P
/P
S
S
S
S
/P
S
/P

PRRPRRPRRRPRRPRPRPRRRR

Page 2 of 2

Description

1/4-20 x .6 Carriage Screw
1/4-20 x .5 Self-tapping Screws
1/4-20 x .6 Hex Screw

1/4-20 Plastic Wing Nut

Mulch Plug

LH Skirt for 42-inch Decks

RH Skirt for 42-inch Decks

RH Skirt for 38-inch Decks

LH Skirt for 38-inch Decks

Bell Washer Not shown, If equipped
U-Nut Not shown, If equipped
Mulch Kit Includes 1-9

WWW.mymowerparts.com



